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3. (1 point) Create the vector v havine 30 logarithmically spaced values starting at 10 and
¢

4. (5 points) Consider the following MATLAB command.
What is the output of each case 7

1. >>A=[2-41013; 163 —718; 849 — 25|;
>> x = size(A)
O x=4
O x=3
x= 34
(O Error message.
2.>>A=[2 —-41013;16 3 ~7 18; 8 4 9 — 25
>>z=A(1:3,2:3)
O 16 3 -7
849
-4 10
3 -7
49
O3 -7 18
4 9 -25
(O Error message.
3. >>x=4:1
(O x=4321
O x=1234
(O x=41
x= Empty matrix 1-by-0.
4. >> v = 0.1:0.1:20;
>> n = length(v)
n=200
() n=191
) n=201
() Error message.
5. >> w =linspace(5,8,4)
w=567T38
() w=5556657
(O w=565758
() w= Empty matrix 1-by-0.
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1. (2 points) Given the following matrix A

-1 2 1 -4 -6
B=1]2 11 5 13 5
5 3 3 1 =3

Suppose this matrix in MATLAB, write down the MATLAB command that has been
used for each the following cases:

1. T create a vectar v enngist of all elements in second row.

thE 11—1“(‘1 - N LR R

2. (2 points) Use two different MATLAB command to create the vector (w) having a reg-
vlar 10 noints startine at 2 and ending at 12.

3. (1 point) Create the vector v havine 25 logarithmieallv enacerd values starting at 1 and

ending
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4. (5 points) Consider the following MATLAB command.

What is the output of each case ?

1.

[@g]

>>A=[2-41013; 163 —718; 849 —25];

>> x = size(A)
(O x=4
O x=3
x= 34
(O Error message

>>A=[2 —410 13,16 3 —7 188 4 9 —25]

>> x = A(5)
3
O 16

(O Empty matrix

(O Error message.

. >> v = 0:0.1:20;

>> n = length(v)
O n=200

(O n=191
n=201

(O Error message.

. >> w =linspace(5,9,5)

w=506789
O w=55566.5
() w=56.57.58.

775
59

(O w= Empty matrix 1-by-0.

>>x =15
(O x=54321
x=12345
O x=51

() x= Empty ma

trix 1-by-0.



